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1.

PQR Ltd. issued for public subscription 20,000 Equity
shares of Rs. 10 each at a premium of Rs.2 per

~ share. The amount being payable as -under.

On application — Rs. 2

On allotment ~ Rs. 5 (including premium)
On First Call — Rs. 2

On Final Call — Rs. 3

Applications were received for 30,000 shares.
Allotments were made pro-rata to the applicants for
24000 shares, the remaining applications were refused.
Money overpaid on application was utilised towards
sum due on allotment.

Abhay to whom 800 shares were allotted failed to
pay the allotment and both calls money and Mangu to
whom 600 shares were allotted failed to pay the two
calls. All'these shares were forfeited after the second
call was made. All the forfeited shares were sold to

Meena at Rs. 8 per share as fully paid up.

Pass the necessary Journal entries to give effect to

the above and prepare Bank A/C, and Balance Sheet

of the company. (15)
OR

(a) State the legal provisions for utilisation of Security
Premium. (%)
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(b) MNO Ltd. forfeited 500 equity shares of Rs. 10
each issued at a discount of Re 1 per share for
non payment of the first call ‘of Rs.2 and final
call of Rs. 2. 300 of these shares were reissued
as fully paid up at Rs. 7 per share.

Pass journal entries for forfeiture and reissue of
shares. _ - (5)

(¢} Y Ltd. purchased assets of Rs.1,50,000 from
Shyam enterprises. It issued equity shares of
Rs. 10 cach fully paid at a premium of 50% in
satisfaction of their claims.

Give journal entries. . (8)
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P.T.O.



9887 4
v, R 800 IR awfea e Wi A 1 anee W i ik
21 A Al @ s W s i /Y, R 600 I
FaRw fre ww A, [ A olEe woswEr A8 W =
= I IR @ A B S & wee T ow o
WIMWWWMﬁSEHﬁﬁWMﬂ
W A R W AT R v

sqﬁmaﬁwﬁ%%qmmaﬁauﬁﬁaﬁaﬁﬁmsﬂt
FEY @ IF A T G = daR AR

e
(%) SRR A < sl 3 % e s sl -
I FRE |

(@) MNO fafiee 7 10 & = 500 Rt Il = oo &
forr B 1 % SR IR W W W B T )
T WP 2 TR A WS W AR 2 we D s
i R g e R v W= A 300 Jd A ot
T 7% WA PR A WA IR S Rar @

W= e W A A W AR A I w9 e
iwﬁﬁﬁﬂﬁ’mt
(w) Y faftds & o weonEs A 1,50,000 TR 3R qRegi
R e T 9 v B B 50% WREE W
10 = a9 T Fw R Am W W R
el ¥ ey i |



9887

5

2. (a) What do you mean by buy back of shares ?
Enumerate the sources available for buy back of .

shares.

s)
(b) BX Ltd. has the following Balance sheet as an
31.3.2011 '
Liabilities _ Assets
80,000 Equity shares | Fixed Assets .| 2000000
of Rs. 10 each 8,00,000 | Current Assets 8,00,000
5000 preference
shares of
Rs. 100 each 5,060,000
Capital Reserve 1,00,000
Security Premium 1,00,000
General Reserve 2,00,000
Profit & loss 1,00,600
. Current Liabilities | 10,00,000
28,00,0600 28,00,000

The preference shares are to redeemed at 10%
premium. Fresh issue of equity shares to be made
to the extent it is required under the Companies
Act for the purpose of redemption. The short fall
in funds after utilising the proceeds of fresh issue
is to be made by taking a bank loan. Show journal
enfries & prepare to B/S after the redemption of

preference shares.

OR

(10)

P.T.O.
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(a) Explain briefly difference between a share and a

Debenture. o (4)

(b) 5000, 10% debentures of Rs. 100 each are issued
at 5% discount and are redecmable at 5%
premium. Pass necessary journal entry. @

(c) A company issued 1000, 10% debentures of
‘Rs. 100 each at a discount of 10% repayable in
annual drawings of Rs. 20,000 over a period of §

- years. Calculate the amount of discount to be
written off each yeat. o (7N

(%) a0 B e |let § v o T § 7 IR P aww
ﬁﬂﬂ%%mm@ﬁaﬁwa

(@) BX @Rz = 3132011 ) PeRRE qEF I Wl

v— | et
80,000 $fredt xR, w aReafemt | 20,00,000
10 % @t _ 8,00,000 | = uRgaferwi 8,00,000
100 & = 5600
gt R 5,00,000
Fovra foord 1,00,000
wRof R ' 1,00000
wwr Rrd 2,00,000
A SR E | 100000
oI 3aard 10,00,000 .
| 2800000 28,00,000
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3. The following is the trial balance of Meenakshi Ltd.

as on 31st December, 2011

Opening Stock
Sales '
Purchases
Purchases Returns
Wages

75000
2,65,000

50,600

3,50,000 -
20,000

P.T.O.



9887 8

Discount 5,600
Furniture 17,000
Salaries 7500
Rent 5,000
Sundry Expenses 7,000
Profit and Loss Account 16030
Dividend paid 10,000
Share Capital . 1,00,000
Debtors and Creditor 37500 17500
Plant and Machinery 26,000
Cash at Bank 16200
General Reserve 15500
Patents 4830

524030 | 524,030

Prepare Profit and Loss Account, Profit and Loss
Appropriation Account and Balance sheet after taking
the following adjustments into consideration.

(i) Closing stock was valued at Rs. 82000.
(ii) Depreciation on fixed assets @ 10%.
(iii) Make a provision for income Tax @ 30%.

(iv) Corporate Dividend Tax @ 17%. ' (15)
OR

(a) Explain the provisions relating to transfer of profits
to reserves on the basis of dividend declared by
the company. ' (5)
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(b) Explain Profit and Loss Appropriation Account.
State the items to be stated therein. (6)

(c) Explain Contingent Liabilities. 4)

Hie fofls = aa w31 ¥R 2011 @ @R @r:

afEr =i 75000
gt 3,50,000
wle 2,635,000
F A ' 20,000
wrgftal 50,000 '
T R W ' ' 5,000
A 17,000
JT : 7500
famrn 5,000
- faRe w9 : 7,000
v S w S . 160,30
T A 10,000' ‘
IR G ‘ 1,00,000
IreiRal o SR 37500 . 17500
WA o TS 1 . 29000
I A Y 16200
amra R .| 15500
R= 4830
5240300 | 524,030

P.T.O.
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4. (a) What is cash flow statement? What are the
advantages of preparing such a statement ? Discuss
briefly the major classification of cash flows as
per AS-3 (Revised). (10)

. (b) Write a note on “Issue of shares at discount”.
()
OR

From the following Balance sheet of Yamuna Ltd,,
prepare Cash Flow statement as per AS-3 (Revised)
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Bralance Sheets’

Liabilities ' 31-3-2010 | 31-3-2011 | Assets 31-3-2010| 31-3-2011
Equity share Goodwill 10,000 8,000
" capilal 40,000 60,000 | Building 20,000 10,000
10% Preference : Plant 18,000 38,200
share capital ' 20,000 10,006 | Dcbtors 17000 28600
General Reserve . 4000 6000 | Stock 17000 15600
Profits & Cash 5400 7000
Loss A/C 3600 5400
Bills payable 7000 10600
Creditors . 1660 ' 1200
Provision for Tax 11200 |- 14200 _
87,400 | 1,07,400 87,400| 1,07.400

Additio.nal Information :

Depreclatlon has been charged on Building Rs 10,000
and on Plant Ks. 5000 during the year.

() 7R A T w2 7 W w R IR
W AW TP AS3 (vifm) & rgER Al el
R WA e At q8 ¥ R AR
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9887 12

GERARE]
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5. Explain the meaning and significance of any five of
the foll_owing ratios. Also give the formula for
computing.

(i) Current Ratio _
(i) Debt-Equity Ratio ’
(i) Net Profit Ratio
(iv) Debtor Turnover Ratio
(v) Return on Investment

(vi) Price Earning Ratio . (3%5=15)
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OR
(a) Calculate the amount of Current Assets and

Current Liabilities if Current Ratio is 2.5:1 and
working capital = Rs. 60,000. 4)

(b) From the following details, calculate closing stock
and stock turnover ratio.

Opening Stock ‘ Rs. 58000°

Purchases - Rs. 4,84,000

Sales | Rs. 6,40,000

G-ross Profit Ratio 2‘5%7 on sales (6)

(c)-Explain the advantages of Ratio Analysis. ‘ (5)
P 3 ¥ 2 el i R ard o e <8
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